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Review:
The weights of newborn children in the United States vary according to the normal distribution with mean 7.5 pounds and standard deviation 1.25 pounds. The government classifies a newborn as having low birth weight if the weight is less than 5.5 pounds.

A. What is the probability that a baby chosen at random wighs less than 5.5 pounds at birth?
B. The top weighing 2% of babies are really funny to look at.  What is the weight cutoff for this?
c. Find the weight of the middle 95% of babies.  

GO TO BACK SIDE
1. Now find mean and standard deviation of your 50 samples.

2. How many of the 50 samples are within one standard deviations of the mean?  What percent is this?

3. How many of the 50 samples are within two standard deviations of the mean?  What percent is this?

Notes:

	Where:

· 
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 is the sample average
· 
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is the standard deviation (use the sample one if you don’t have population stand dev)

· n is the sample size.  This is the size of your sample.


	Find Confidence Interval(E).  
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· Z is below
· 90% confident = 1.64

· 95% confident = 1.96

· 99% confident = 2.57


Practice:

A sample of 50 random people who played the Powerball lotto found the average amount bet was $14 with standard deviation of $3.  Create a 95% confidence0 interval for the true average amount spent by all players?

4. 0Now with your neighbor, you are going to survey 60 babiesand you are going to repeat this 50 times.   Put the results below:

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	


Now make a histogram using ALL 10 classes.  
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